WRITING FOR THE PROFESSIONS

WEEK 11 STYLE EXERCISES – PLAIN ENGLISH 

(from Williams)

Rewrite these passages and save the answers for your portfolio. Warning, these are challenging but are worthwhile additions to your portfolio. 
1. This is an excerpt from an actual recall letter sent to an automobile owner. Rewrite it so that anyone who received the letter could understand just what made the recall necessary. Locate crucial actions. Use we and you as subjects of verbs expressing those actions.

A defect which involves the possible failure of a frame support plate may exist on your vehicle. This plate (front suspension pivot bar support plate) connects a portion of the front suspension to the vehicle frame, and its failure could affect vehicle directional control, particularly during heavy brake application. In addition, your vehicle may also require adjustment service to the hood secondary catch system. The secondary catch may be misaligned so that the hood may not be adequately restrained to prevent hood fly-up in the event the primary latch is inadvertently left unengaged. Sudden hood fly-up beyond the secondary catch while driving could impair driver visibility. In certain circumstances, occurrence of either of the above conditions could result in vehicle crash without prior warning.

2. This is from Section 3102 of the Internal Revenue Code. It has to do with paying Social Security taxes for employees. Rewrite the passage so that someone who had hired a baby-sitter a few days a week would understand the provision and comply with the law rather than fire the baby-sitter out of sheer frustration.

The tax imposed by section 3101 shall be collected by the employer of the taxpayer, by deducting the amount of the tax from the wages as and when paid. An employer who in any calendar quarter pays to an employee cash remuneration to which paragraph (7) (B) or (C) or (10) of section 3121 (a) is applicable may deduct an amount equivalent to such tax from any such payment of remuneration, even though at the time of payment the total amount of such remuneration paid to the employee by the employer in the calendar quarter is less than $50; and an employer who in any calendar year pays to an employee cash remuneration which paragraph (8) (B) of section 3121(a) is applicable may deduct an amount equivalent to such tax from any such payment of remuneration, even though at the time of payment the total amount of such remuneration paid to the employee by the employer in the calendar year is less than $150 and the employee has not performed agricultural labour for the employer on 20 days or more in the calendar year for cash remuneration computed on a time basis.

3. Here are excerpt from two insurance policies. Rewrite both so that anyone who can read can understand them. The first step is to break the sentences into shorter grammatical sentences.

(a) The words "damages because of bodily injury by accident or disease including death at any time resulting therefrom" includes damages for care and loss of services and damages due to insurer liability by reason of suits or claims brought against the insured by others for the recovery of damages obtained from such others because of such bodily injury sustained by employees of the insured arising out of an in the course of their employment.

(b) If the Insured Person, while insured under this Policy, experiences whole and continuous disability by reason of accidental injury or by reason of sickness, and is thereby prevented on account of such disability from the performance of each and every duty of his occupation, and each and every duty of all other occupations and business for remuneration or profit, for a period of more than thirty consecutive days, the Company will pay to the Policyholder or the Bank, as irrevocably creditor-beneficiary, for each day in such period on which such person remains so disabled, commencing with the thirty-first day of such period, a Daily Benefit determined in accordance with the provision entitled "Amount of Benefit" contained herein; provided, however, that the liability of the Company under the Disability Benefit is limited to payment of such benefits for a period of not more than eighteen months in connection with any one period of continuous disability. If the Insured Person suffers a recurrent disability arising out of the same cause or causes of a previous disability before the expiration of sex consecutive months after the date of termination of such previous period of disability, the liability of the Company in connection with such subsequent period of disability shall be limited to the remaining portion of said eighteen-month period of benefits not exhausted during such prior period or periods of disability. 
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